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INSTRUCTIONS TO CANDIDATES

Write your name, centre number and candidate • 
number in the boxes on the first page. Please write 
clearly and in capital letters.

Use black ink. Pencil may be used for graphs and • 
diagrams only.

Read each question carefully. Make sure you know • 
what you have to do before starting your answer.

Write your answer to each question in the space • 
provided. Additional paper may be used if necessary 
but you must clearly show your candidate number, 
centre number and question number(s).

Answer • ALL the questions.

INFORMATION FOR CANDIDATES

The number of marks is given in brackets [ ] at the • 
end of each question or part question.

The total number of marks for this paper is • 80.

Your quality of written communication is assessed in • 
questions marked with an asterisk (*).
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TEXT 1

Leo Springer has been designing and making office 
furniture ever since he left college 10 years ago. He 
started by making desks for people to have in their 
office/study at home. Interest grew in his business and 
he was regularly called into other businesses to design 
the layout of their offices and then make the furniture. 
He currently sells the furniture abroad, as well as in the 
United Kingdom (UK). He has always run the business 
as a sole trader and it operates under the name Springer 
Office Furniture (SOF). Leo now employs staff to make 
the furniture and to manage the various functional areas 
within the business.

1 REFER TO TEXT 1.

 (a) State ONE possible reason why Leo Springer 
started his own business.

 __________________________________________

 __________________________________________

 _______________________________________  [1]
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 (b) (i) Outline TWO advantages to Leo of running 
SOF as a sole trader.

1:  _____________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

2:  _____________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 ____________________________________  [4]
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  (ii) Outline TWO disadvantages to Leo of running 
SOF as a sole trader.

1:  _____________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

2:  _____________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 ____________________________________  [4]
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 (c)* Changes in the external environment can impact 
on the activities of a business.

  These include:

the level of consumer spending; •
new competitors entering the market. •

  Evaluate whether changes in the level of 
consumer spending or the entry of new 
competitors into the market will have the greater 
impact on SOF.

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________
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 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 ______________________________________  [10]

 [Total: 19]
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TEXT 2

Leo has always been interested in ICT and would like to 
use it throughout his business.

2 REFER TO TEXT 2.

 (a) State and explain ONE way in which Leo could use 
ICT to make the manufacturing process at SOF 
more efficient.

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 _______________________________________  [2]
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 (b) State and explain ONE way in which Leo could use 
ICT to make the administration functional area at 
SOF more efficient.

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 _______________________________________  [2]

 (c) Identify THREE operational tasks of the marketing 
functional area in a business you have studied.

Name of business: __________________________

1:  ________________________________________

 __________________________________________

 __________________________________________

2:  ________________________________________

 __________________________________________

 __________________________________________

3:  ________________________________________

 __________________________________________

 _______________________________________  [3]
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 (d) Leo is keen to increase the amount of marketing 
undertaken by SOF.

  State and explain TWO ways in which the use 
of ICT could help Leo to increase the amount of 
marketing at SOF.

1:  ________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

2:  ________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 _______________________________________  [4]
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 (e)* Leo has always tried to operate SOF in 
enterprising ways. The following are ways in which 
SOF could be enterprising:

taking a risk by developing new furniture  •
designs;
changing the way in which workers are  •
organised;
giving workers a share in the profits of SOF. •

  Which one of these ways would have the BIGGEST 
impact on SOF? Give reasons for your answer, 
explaining why you rejected the other two ways.

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________
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 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 _______________________________________ [10]

 [Total: 21]
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TEXT 3

Leo is keen to keep all of SOF’s different stakeholder 
groups happy. He works hard both inside and outside 
the business to try to keep the stakeholder groups 
happy.

3 REFER TO TEXT 3.

 (a) (i) State THREE DIFFERENT stakeholder groups 
with an interest in SOF.

1:  _____________________________________

2:  _____________________________________

3:  __________________________________  [3]

  (ii) State and explain ONE possible conflict 
between the interests of TWO of the groups 
identified in PART (a)(i).

Name of group 1:  ________________________

Name of group 2:  ________________________

Conflict:  _______________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 ____________________________________  [2]
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 (b) State and explain TWO possible consequences to 
a business you have studied if it does not listen to 
its stakeholder groups.

Name of business:  __________________________

1:  ________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

2:  ________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 _______________________________________  [4]
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 (c) All businesses need to be mindful of ethics and 
the need to be sustainable.

  (i) State and explain TWO ways in which SOF may 
act in order to achieve sustainability.

1:  _____________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

2:  _____________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 ____________________________________  [4]
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  (ii) Explain the meaning of the term ethics.

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 ____________________________________  [2]
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  (iii) Other than sustainability, state THREE ways 
in which a business you have studied can be 
seen to be operating in an ethical manner.

Name of business:  _______________________

1:  _____________________________________

 _______________________________________

 _______________________________________

2:  _____________________________________

 _______________________________________

 _______________________________________

3:  _____________________________________

 _______________________________________

 ____________________________________  [3]

 [Total: 18]
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TEXT 4

The capital to finance SOF has come from both Leo’s 
own savings and from a bank loan. Leo is now thinking 
of changing SOF’s existing business practices by 
concentrating on one target market. Rather than selling 
to the general public and businesses in the UK and 
abroad, he would only sell to businesses based in the UK.

4 REFER TO TEXT 4.

 (a) State and explain TWO possible reasons why Leo 
wants to change SOF’s business practices in this 
way.

1:  ________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

2:  ________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 _______________________________________  [4]
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 (b) Other than by changing its target market, explain 
TWO ways which a business you have studied has 
changed its existing business practices.

Name of business:  __________________________

1:  ________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

2:  ________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 _______________________________________  [4]
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 (c) The success of SOF will depend on conditions in 
the economy as a whole.

  Draw a line between each term and its correct 
definition in the diagram below. [4]

TERM

Interest 
rates

Inflatio n

Exchange 
rates

Taxation

DEFINITION

The increase in the 
price of goods and 
services measured 
over a set period of 
time.

The amount of 
money taken from the 
general public by the 
government to spend 
on public services.

The cost of borrowing 
money.

The price at which 
one currency is 
bought and sold for 
another.

The amount spent by 
the government on 
public services.
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 (d)* Leo knows that the following factors within the 
economy could all affect the success of SOF:

changes in interest rates; •
changes in inflation; •
changes in exchange rates; •
changes in taxation. •

  Which of these factors would have the BIGGEST 
impact on SOF? Give reasons for your answer, 
explaining why the other factors would have less 
impact.

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________
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 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 ______________________________________  [10]

 [Total: 22]
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Copyright Information

OCR is committed to seeking permission to reproduce all third-party content 
that it uses in its assessment materials.  OCR has attempted to identify and 
contact all copyright holders whose work is used in this paper.  To avoid the 
issue of disclosure of answer-related information to candidates, all copyright 
acknowledgements are reproduced in the OCR Copyright Acknowledgements 
Booklet.  This is produced for each series of examinations and is freely 
available to download from our public website (www.ocr.org.uk) after the live 
examination series.
If OCR has unwittingly failed to correctly acknowledge or clear any 
third-party content in this assessment material, OCR will be happy to correct 
its mistake at the earliest possible opportunity.
For queries or further information please contact the Copyright Team, First 
Floor, 9 Hills Road, Cambridge CB2 1GE. 
OCR is part of the Cambridge Assessment Group; Cambridge Assessment 
is the brand name of University of Cambridge Local Examinations Syndicate 
(UCLES), which is itself a department of the University of Cambridge.



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 15%)
  /CalRGBProfile (ColorMatch RGB)
  /CalCMYKProfile (U.S. Sheetfed Uncoated v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.3
  /CompressObjects /Off
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams true
  /MaxSubsetPct 100
  /Optimize false
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts false
  /TransferFunctionInfo /Preserve
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile (None)
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 600
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects true
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /CreateJDFFile false
  /Description <<
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /ENU <>
  >>
>> setdistillerparams
<<
  /HWResolution [600 600]
  /PageSize [595.245 841.846]
>> setpagedevice


